[image: ]
[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image1.png
L1
1.2,
13.
14.
15.

1.6.
1.
l.&,y:\l[;«)»%—u‘—l—%.
19, y=8 4 -1 -2
|.|u.y:u“+%—{/’7;%.
L1 9:2\/?_%+3;,
L1z y=47—2 —{/?+%.

1.13. y:5x’—%+4\/;+ <





image2.png
=f(x— 5
23y =V =+ iy
4. y =375 — -3
2y A
2.5. y=/3r —x+5— =
26, y =32 —2¢ fx— 4

[
=x—7¢ 5
27y =V =T+
=3 P
28 y =N+ 4 — o
29 y=—2_ 57 —4x+3.

=

2.10. y=-/4 —3x— —ﬁA
2.l|.y=u1‘|y+\/8x—3+x:.
212, y=437 f4x— 544 __

v +4x—5+ T

. y=/5x —2x— 1 4 8

G

2.14. y:ﬁ—\/i‘——b{"’— .
215 y=Ax— 1 — ot

¢ —3x+2
2.16. y= (x~2)5—?





image3.png
sin’2x-cos8°, 3.
| y=1lg'x-arcsindr’. 3
.y—dgﬂx - arccos 3%, 8.6.

0s° 3 - glax+ 1",
resin® 2x - clg Tx.
recosbx-In(x—3).

37 y=In‘x-arctg7x’, 3.8 y=arclg’ 4x-3x
39, y=2".arcelghy, 3.10.y=4-"- I’ (x+2)
L1 y=3%*arcsin 7. 312, y =5+ arccos 26",
313, y=sin' 3¢+ arctg 26 3.14. y = cosdx- arcetgVx.
3.15. y=tg’ 2x- arcsinx’. 3.16. y=clg’ x-arccos 2.
307 p=e i igTé. 318 y=e ctg8e

3.19. 4= cos® x- arccos 4x. 3.20. y=sin*7x-arcetg5y’.

in?3x-arcclgd®. 3.22. y = cosix - arcig x*.
Ig 2x-cos T 3.24. y=clg’ dx-arcsimyx.
ctg L - arccos #'. 326y tg/x - arcctg 36
3.27. y=tg’2x- arccos2x’. 3.28, y=2¢" arclg’ 3x.
3.29. 0s* 3x - aresin3x.

sin3x - arctg/x. 3.30





image4.png
tg*3x - arctg 7%

5~ aresin 3¢,

arctg® x - loga(x —3).

= logs(x+5)  arccos 3x.
e~ - arcsin® 5x.

0g(x — 1)- arcsin’ x.

(x—4)° - arcelg 3x".

tgux arctg %¢'.

=2 arctg 7x°.

\x+ 1arccos 3 35,

2% arcelg x*.

37 arclg 2¢°.

< arcsin’ 3x.

n(x — 10)- arccos” dx.

g(x —2)- arcsin’ x.

= logs(x + 1) - arctg® 7x.

n{x +9) - arcctg? 2x.

g(x + 2)- arcsin? 3x.

£ arctg 3x

2 arcelg’ x.

g(x — 3)-arcsin’ 5y.

426, = loga(x +3)- arccos’ x.

427, y=2"" arctg’4x.

428, y=In(x —4)- arcctg’ 3x.

429, y=1lg(x +3)- arcctg®5:

430, y=logs(x + 1)- arctg’x'.

5

g 3x . arcsin 2¢°,

9)* arcsin 5x*

- arelg Tx*

+6f arcclg 3x°.
o In(x —3x+ 7.

jototag =4 iy
«

EERE2EENR RGPS

l:k:t:w%t:u:l:‘t\ttt‘:‘:

P e ettt et e oot ot ot e
10 10 o 1O DD it it Bt - N2t

2R

recos - ctg 7"
57 arccos 5x*.
arctg® x - cos Tx',
4(x = 7 aresin 32",
(x+ 5" arccos 5.
2% arcsin’ 2x.

(x +2) arccosyx.

(x— T arcsin 7x.

SoomzeeNe naens
Teeow ceEES

IS

g ganaanann aaaasn

EE:





